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Instructions:
1. Attempt any five questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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Answer the following
(1) Define the term: (a) lonization energy (b) Electrolyte
(2) State Auf-Bau’s principle
(3) Give electronic configuration of (a) 17CI* (b) »sFe®
(4) Give characteristics of ionic substances
(5) What are refractories and give its classification
(6) Give the types of electrolytes with suitable examples
(7) Write the name of monomers used in (a) PVC (b) Terelyne
Answer the following
Fill in the gaps
(1) Alumina and Magnesia are example of
refractories
(2) As dilution of aqueous solution increases, the degree of

ionization
(3) Nylon 6,6 is formed by polymerization reaction.
(4) The value of first ionization energy is than second

ionization energy
(5) The no. of neutrons in the atom of 1;Na” is
(6) The shape of ‘P’ orbital is
(7) The solution which resists the change in hydrogen ion
concentration is known as
(1) Define (i) Viscosity index (ii) Flash point (iii) fire point
(2) Write only Chemical reactions occurring in lon exchange
process
For removal of hardness

OR
(1) Explain condensation polymerization with suitable example
(2) State properties and uses of Thermocole and glass wool
Answer the following
What is Buffer solution? Give its types with suitable examples
Explain construction and working of Galvanic cell
Explain the importance of pH in various fields of Engineering
OR
Explain Hydrogen bond and give its significance
Define: “Degree of ionization” ,State the factors affecting degree of
ionization
Define pH and calculate the pH of Acidic solution containing
0.001M concentration of H3O"
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Answer the following
What are adhesives? Give characteristics of Good adhesive
Give classification of lubricants with examples
Distinguish between the Paint and Varnish
OR
What is electrolysis? Explain refining of impure Cu by electrolysis
Explain Zeolite process for softening of hard water
Write the functions of ingredients of paints

Answer the following
Explain Fluid film lubrication with diagram
Water sample contains the following salts present in it .Find (i)
Temporary hardness(ii) Permanent hardness (iii) Total hardness of
water sample in ppm
Ca(HCO3)2 = 81 mg/litre CaS0O4 = 13.6 mg/litre
Mg(HCO3)2 = 14.6 mg/litre  MgCI2 = 19.0 mg/litre
Explain Vulcanization of rubber with its advantages

OR
Explain covalent bond and write its characteristics
State the essential properties of lubricants used for “Cutting tools”
and “Steam turbine”
Write short note on method of Anodic and Cathodic protection of
metal
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Ca(HCO3)2 = 81 mg/litre CaS0O4 = 13.6 mg/litre
Mg(HCO3)2 = 14.6 mg/litre  MgCI2 = 19.0 mg/litre

(H=01,C=12,0=16,Mg=24,5=32,Cl=355Ca=40 )
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